2019-02-19 A

5 bord, 10 par. Antal spil: 27. Middel: 108,0. Middel+/=/- giver 60 / 50 / 40 %.

Slutresultat
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Navn

Jane Birk - Knud Hansen

Niels Vangsgaard - Alice Larsen
Flemming Kehman - Poul Nielsen
Jens Balle - Elly Poulsen

Oversidder Hansen - Oversidder Olsen

Else Lisby - Henning Andreassen
Roald Christensen - Grete Pedersen
Lise Gubi - Jorgen Jacobsen

Erik Thennings - Ulla Thennings
Angelo Danigella - Ellen Bakholt

M-ID

11 12
35 26
46 45
27 28
80 81

8 43
14 13
20 22
55 56
44 33



2019-02-19 A

5 bord, 10 par. Antal spil: 27. Middel: 108,0. Middel+/=/- giver 60 / 50 / 40 %.

Slutresultat

Spil: 1 Spil: 2
Par Kontr Resultat Point Par Kontr Resultat Point
46 2U O +2 -180 2,8 5,3 46 3U O -4 200 7,8 0,3
52 le N = 70 7,8 0,3 52 3v N+1 170 4,0 4,0
73 3U O = -400 0,3 7,8 73 3v N+1 170 4,0 4,0
98 M=/M= 4,0 4,0 98 M=/M= 4,0 4,0
101 2U0 V = -120 5,328 | 101 S5ex N -1 -200 0,3 7,8
Spil: 3 Spil: 4
Par Kontr Resultat Point Par Kontr Resultat Point
46 2¢ V2 -130 2,8 5,3 19 M=/M= 4,0 4,0
52 3¢ V = -110 5,3 2,8 57 1U N -2 -200 5,3 2,8
73 34 S -2 -100 7,8 0,3 63 4v N -3 -300 1,5 6,5
98 M=/M= 4,0 4,0 84 1U N -3 -300 1,5 6,5
101 3v O = -140 0378 | 102 1v S +1 110 7,8 0,3
Spil: 5 Spil: 6
Par Kontr Resultat Point Par Kontr Resultat Point
19 M=/M= 4,0 4,0 19 M=/M= 4,0 4,0
57 3¢ O -2 100 7,8 0,3 57 3U N+1 430 7,8 0,3
63 4&x S -3 -800 0,3 7.8 63 3« N-+1 130 1,5 6,5
84 lv O = -80 5,3 2,8 84 3& N +2 150 5,328
102 3v N -2 -200 2,8 5,3 102 34« N +1 130 1,5 6,5
Spil: 7 Spil: 8
Par Kontr Resultat Point Par Kontr Resultat Point
21 1a V +1 -110 2,8 5,3 21 3U V +1 -430 2,8 5,3
68 24 V +1 -140 0,3 7,8 68 3U V+2 -460 0,3 7,8
74 2« S -1 -100 5,3 2,8 74 39 O = -140 7,8 0,3
95 M=/M= 4,0 4,0 95 M=/M= 4,0 4,0
103 2U S = 120 7,8 0,3 103 2« O +4 -230 5,3 2,8
Spil: 9 Spil: 10
Par Kontr Resultat Point Par Kontr Resultat Point
21 4 O -2 200 7,8 0,3 16 2¢ N +1 140 2,853
68 24 V -1 100 5,3 2,8 32 3v N = 140 2,853
74 le O +2 -140 2,8 5,3 79 M=/M= 4,0 4,0
95 M=/M= 4,0 4,0 85 3v N+1 170 7,8 0,3
103 3v N 4 200 0,378 | 104 1v N +2 140 2,853
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2019-02-19 A

5 bord, 10 par. Antal spil: 27. Middel: 108,0. Middel+/=/- giver 60 / 50 / 40 %.

Slutresultat

Spil: 11 Spil: 12
Par Kontr Resultat Point Par Kontr Resultat Point
16 44 S = 420 4,0 4,0 16 3U S = 600 7,8 0,3
32 5¢ V-1 50 0,3 7,8 32 2&% N = 90 2,853
79 M=/M= 4,0 4,0 79 M=/M= 4,0 4,0
85 40 S = 420 4,0 4,0 85 20 S +1 150 53 2,8
104 5ax S = 650 7,8 0,3 104 2U S -1 -100 0,3 7,8
Spil: 13 Spil: 14
Par Kontr Resultat Point Par Kontr Resultat Point
27 1l S +4 200 2,853 27 34 S -2 -100 0,3 7,8
43 20 S = 120 0,3 7.8 43 1a S +2 140 7,8 0,3
81 44 N +1 650 6,5 1,5 81 3¢ S -1 -50 4,0 4,0
96 M=/M= 4,0 4,0 96 M=/M= 4,0 4,0
105 4 N +1 650 6,515 | 105 3U N -1 -50 4,0 4,0
Spil: 15 Spil: 16
Par Kontr Resultat Point Par Kontr Resultat Point
27 2« N = 90 7,8 0,3 17 44 O +1 -650 4,0 4,0
43 3U N -1 -100 5,3 2,8 38 44 O +1 -650 4,0 4,0
81 34 S -2 -200 1,5 6,5 54 44 O +1 -650 4,0 4,0
96 M=/M= 4,0 4,0 92 M=/M= 4,0 4,0
105 3U S -2 200 1,565 | 106 44 O +1 -650 4,0 4,0
Spil: 17 Spil: 18
Par Kontr Resultat Point Par Kontr Resultat Point
17 3« S +2 150 6,5 1,5 17 24 S = 110 7,8 0,3
38 34 O -2 100 0,3 7.8 38 4v O -2 100 5,3 2,8
54 2« S +1 110 2,853 54 20 V -1 50 2,853
92 M=/M= 4,0 4,0 92 M=/M= 4,0 4,0
106 34 O -3 150 6,515 | 106 2¢ O = -90 0,3 7,8
Spil: 19 Spil: 20
Par Kontr Resultat Point Par Kontr Resultat Point
13 3U N+2 460 6,5 1,5 13 3U N -1 -100 1,5 6,5
28 4v N = 420 2,853 28 4 S -1 -100 1,5 6,5
49 M=/M= 4,0 4,0 49 M=/M= 4,0 4,0
65 3U N+2 460 6,5 1,5 65 4¢v S +2 680 7,8 0,3
107 5« S -1 -50 0,378 | 107 4¢ S = 620 5,328
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5 bord, 10 par. Antal spil: 27. Middel: 108,0. Middel+/=/- giver 60 / 50 / 40 %.

Slutresultat

Krepo Odense

Spil: 21 Spil: 22

Par Kontr Resultat Point Par Kontr Resultat Point
13 1a V12 -140 7,8 0,3 24 1a S -2 -100 4,0 4,0
28 44 V = -420 1,5 6,5 39 M=/M= 4,0 4,0
49 M=/M= 4,0 4,0 51 20 O = -120 0,3 7.8
65 44 V = -420 1,5 6,5 76 20 O -3 300 7,8 0,3
107 3a V +1 -170 5328 | 108 2U S -2 -100 4,0 4,0
Spil: 23 Spil: 24

Par Kontr Resultat Point Par Kontr Resultat Point
24 24 N = 90 0,3 7,8 24 2¢ N -1 -50 6,5 1,5
39 M=/M= 4,0 4,0 39 M=/M= 4,0 4,0
51 2« O -1 100 2,853 51 1U V +1 -120 0,3 7,8
76 1a S +2 140 6,5 1,5 76 24 S -2 -100 2,8 5,3
108 24 S +1 140 6,515 | 108 2¢ N -1 -50 6,5 1,5
Spil: 25 Spil: 26

Par Kontr Resultat Point Par Kontr Resultat Point
35 4¢ S +2 170 5,3 2,8 35 2« S +2 130 2,853
41 S5¢ S +1 420 7,8 0,3 41 2« S +3 150 5,328
62 5« N -2 -100 0,3 7,8 62 3U S+1 630 7,8 0,3
87 5¢ S -1 -50 2,853 87 20 S = 120 0,3 7,8
10 9 M=/M= 404,0 | 109 M=/M= 4,0 4,0
Spil: 27

Par Kontr Resultat Point

35 3¢ V +I -170 5,3 2,8

41 4exV = -590 1,5 6,5

62 34 N -2 -100 7,8 0,3

87 4ex V = -590 1,5 6,5
10 9 M=/M= 4,0 4,0



